ERERIENERREHES

S BTE KR ERARER

GHEZ) (L=60. Om-W=4. Om)

OMsIc&270% . Fih

(GERRIEIE B8 ET) L= 0.06 km
(— M BEmEREt) XBIOvIiR N= 1 &R
(BS R B 11 58 # AR R L= 0.06 km
BMETEEFH) L= 0.06 km
(ZDfth)
EEHE (HY+ 1B+ R RMAR) F 3 1=
REXBE 1=

HESHREAE (REMR2E) [




ERERIENERREHES

O ETEK R E R AR
[t EHRE]
—REERE
Cth B ERE) A= TR 28 (&)
HA—) T (hatEL) L= 2.000 m (Im*2 B )
BHA—U> ) (BEL) L= 4000 m (2m*2 8T
A —2J (ECY L) L= 4000 m (2m*2 8T
AR —) T (EE) L= 4000 m (2m*2 B )
REE ASER (REEL) N= 2.000 [ (1E/m)
BEEARR(WET) N= 4.000 [ (1El/m)
FEE AR (MECYT) N= 4.000 [q] (1[El/m)
SRS AR (85) N= 4.000 [ (1El/m)
YTV I (TZIHTIVY) N= 1.000 &K
= B [E HEEAER (CDERER) N= 1.000 EH#
(EHTERE)
BELYFLD (EHR—I T 28K - BRI T 2K) N= 1.000 7%
BEEEQER(EER—) 5 2K - FRK—)V T :2K) N= 1.000 %7




ERERIENERREHES

O ETEK R E R AR
[thERE]
—REERE
(ZDfth)
HRESHREE N= 1.000 =
HEEHE (E1E+RRRMAR) E20E N= 1.000 =
(EE#)
EEL(EBRUERA{FT) N= 1.000 =
EWT (FSvo2ti5-2. Oth) N= 1.000 =
REE T (i B 15) N= 2.000 AR
IR EE N= 1.000 =




